CONFIDENTIAL

Operator: License # 5316

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL Form ACO-1 September 1999 Form Must Be Typed 2 17 12

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

API No. 15 - 025-21488-0000

Name: FALCON EXPLORATION, INC.	County: CLARK
Address: 125 N. MARKET, SUITE 1252 NOISING NOLLYAUSSNOO	SE_NW_SW_NW_Sec. 34_Twp. 30_S. R. 22
City/State/Zip: WICHITA, KS 67202	1820 feet from S /(N) (circle one) Line of Section
Purchaser: NA 0107 L 1 833	450 teet from E /(W) (circle one) Line of Section
Operator Contact Person: MIKE MITCHELL Phone: (316) 262-1378 Contractor: Name: VAL ENERGY INC.	Footages Calculated from Nearest Outside Section Corner: (circle one) NE SE (NW) SW Lease Name: YBC Well #: 1-34(NW)
License: 5822 Wellsite Geologist: KEITH REAVIS FEB 1 7 2010	Field Name: WC
	Producing Formation: MORROW
Designate Type of Completion: CONFIDENTIAL	Elevation: Ground: 2359 Kelly Bushing: 2369
X New Well Re-Entry Workover	Total Depth: 6360 Plug Back Total Depth: 5625
Oil SWD StOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 682 Feet
X GasENHR X SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☒ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	Drilling Fluid Management Plan MAT 119 2-12
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ATT W 3-22-10 (Data must be collected from the Reserve Pil)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 17200 ppm Fluid volume bbts
Plug Back Plug Back Total Depth	Dewatering method used HAULED FREE FLUIDS TO SWD
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	·
Other (SWD or Enhr.?) Docket No	Operator Name: DILLCO FLUID SERVICE INC.
10/29/09 11/13/09 12/10/09	Lease Name: 1 B REGIER License No.: 6652
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec. 17 Twp. 33 S. R. 27 East X West County: MEADE Docket No.: D21232
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs are TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Shall requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. months if requested in writing and submitted with the form (see rule 82-3-10d geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
nerein are complete and correct to the best of my knowledge.	
Signature:	KCC Office Use ONLY
Title: PRESIDENT Date: 2/16/10	Letter of Confidentiality Received
Subscribed and sworn to before me this 16TH day of FEBRUARY	If Denied, Yes Date:
20_10	Wireline Log Received
Notary Public: Yasanu M Schuppers	Geologist Report Received UIC Distribution
Date Commission Expires: 9/28/11 ROSANN M. SC NOTARY PU STATE OF KI	BLIC

Sec_ 34	Operator Name: FA	LCON EXPLORA	TION, II	NC.	Leas	e Name: YBC Well #: 1-34(NW)							
tested, time tool open and closed, flowing and shurs in pressures, whether shurt in pressure reached static loved, hydroselatic pressures, botton hole temperature, fails recovery, and flow rates if gas to surface lest, along with final chart(s). Attach sxtra sheet if imore space is needed. Attach copy of all Electric Wireline Logs surveyed. Attach final geological well after report. Drill Stem Tests Taken	Sec. 34 Twp.	30 S. R. 22	_ 🔲 Eas	t X West									
Name	tested, time tool ope temperature, fluid re	n and closed, flowin covery, and flow rate	g and shu s if gas to	t-in pressures, surface test, a	whether s along with	hut-in pr	essure reached	static level, hydr	ostatic pressu	res, bottom hole			
Samples Sort to Geological Survey X Yes No			χX	es No		ΧI	og Format	ion (Top), Depth	and Datum	Sample			
Electric Log Run	Samples Sent to Ge	ological Survey	ΧY	es 🗌 No									
CHERORES	Cores Taken		□ Y	Yes X No					4998	-2629			
MISS 5347 2978	-		χY	es 🗌 No		ŀ			5174				
MISS 5347 -2978	List All E. Logs Run:								5304	-2935			
VIOLA 6277 -3908 CASING RECORD New Used Report all strings set-conductor, surface, intermediate, production, etc. Purpose of String Size Hole Set (Inc.) Viole Set Casing Depth Sorting Depth Set (Inc.) Vise Casing Commit Set (Inc.) Vise Casing Depth Set (Inc.) Vise Casing Oberhole Set (Inc.) Vise Casing Oberhole Vised Nadditives SURFACE 12-1/4 8-5/8 24# 682 CLASS A 250 2% GEL, 3% CC PRODUCTION 7-7/8 5-1/2 15.5 5650 AA-2 175 ADDITIONAL CEMENTING / SOUEEZE RECORD Purpose: Depth Top Bottom Type of Cement #Sacks Used Type and Percent Additives ADDITIONAL CEMENTING / SOUEEZE RECORD Purpose: Perforte Perforted Casing Plug Set Type Add, Fracture, Shot, Cement Squaeze Record (Amount and Kind of Material Used) Shots Per Foot Perforted Production, SMD or Enh. Producing Method (Amount and Kind of Material Used) TUBING RECORD Size Set At Packer At Liner Run Ves No Depth Gravity Gas Lift Other (Explain) String Production of Gas METHOD OF COMPLETION Production Interval Other (Explain)	_								5347	-2978			
CASING RECORD	CNL/CDL;DIL	;BMCS;MEL				,coi	VLEÝ FACII	ES ·	5846	-3477			
Purpose of String						VIO	LA		6277	-3908			
Purpose of String							<u></u>		_				
Depth Set (In O.D.) Libs /Fit. Depth Cement Used Madditives			Repo					ction, etc.					
PRODUCTION 7-7/8 5-1/2 15.5 5650 AA-2 175 PRODUCTION Total Top Bottom Type of Cement #Sacks Used Type and Percent Additives	Purpose of String												
ADDITIONAL CEMENTING / SOUEEZE RECORD Purpose:	SURFACE	12-1/4	8-5/8		24#		682	CLASS A	250	2% GEL, 3% CC			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated TUBING RECORD Size Set At Packer At Liner Fun Yes No Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Disposition of Gas METHOD OF COMPLETION Type of Cement #Sacks Used #Sacks Used Type and Percent Additives Type and Percent Additive Additi	PRODUCTION	N 7-7/8	5-1/2		15.5		5650	AA-2	175				
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone Perforate Protect Casing Plug Back TD Plug Off Zone Perforation RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated													
Perforate Protect Casing Plug Back TD Plug Off Zone Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) PERFORATION RECORD - Bridge Plugs Set/Type Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth TUBING RECORD Size Set At Packer At Liner Run Yes No Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Disposition of Gas METHOD OF COMPLETION Producing Method Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled				ADDITIONAL	. CEMENT	NG / SQI	JEEZE RECORD	<u> </u>		·			
Plug Off Zone Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth 5330-5338' TUBING RECORD Size Set At Packer At Liner Run Yes No Date of First, Resumend Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole Red. Perf. Dually Comp. Commingled	Perforate		Туре	of Cement	#Sack	s Used	Type and Percent Additives						
Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth 5330-5338' TUBING RECORD Size Set At Packer At Liner Run Yes No Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled													
Specify Footage of Each Interval Perforated (Amount and Kind of Material Used) Depth 5330-5338' TUBING RECORD Size Set At Packer At Liner Run Yes No Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled	Plug Off Zone												
Specify Footage of Each Interval Perforated (Amount and Kind of Material Used) Depth 5330-5338' TUBING RECORD Size Set At Packer At Liner Run Yes No Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled		25250											
TUBING RECORD Size Set At Packer At Liner Run Yes No Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Open Hole Perf. Dually Comp. Commingled	Shots Per Foot					ı	Acid, Fra	cture, Shot, Cemer mount and Kind of M	nt Squeeze Reco laterial Used)				
Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled	4	5330-5338'											
Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled				<u>.</u>									
Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled													
Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled			•					, , , , , , , , , , , , , , , , , , , ,					
Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled									<u> </u>				
Date of First, Resumerd Production, SWD or Enhr. SIWOPLC Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled	TUBING RECORD	Size	Set At	<u> </u>	Packer	At	Liner Bun	-					
SIWOPLC Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled						•	[Yes 🖸 No)				
Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity Disposition of Gas METHOD OF COMPLETION Production Interval Vented Sold Used on Lease Open Hole X Perf. Dually Comp. Commingled	The state of the s	d Production, SWD or E	nhr.	Producing Met		Flowing	g Pumpi	ng Gas Li	ift [] Oth	er (Explain)			
Vented Sold Used on Lease Deen Hole ■ Dually Comp. Commingled		Oil	Bbis.	Gas	Mcf	Wate	er B	lbis.					
	Disposition of Gas	METHOD OF C	COMPLETIC)N			Production Inter	rval					
(If vented, Submit ACO-18.) Other (Specify)						r. 🗀 c	Oually Comp.	Commingled					

YBC #1-34(NW) SE NW SW NW SECTION 34-30S-22W CLARK COUNTY, KANSAS API #15-025-21488-0000

DST #1: 5070-5150', 5-90-90-120. WEAK SURFACE BLOW ON FIRST OPEN. BLOW BUILDING TO 9 INCHES IN 90 MIN. ON 2ND OPEN. RECOVERED 45' MUD, 60'G&WCM (5% GAS, 20% WATER, 75% MUD). IHP 2439# -- IFP'S 26-37# -- ISIP 1747# -- FFP'S 33-75# -- FSIP 1643# -- FHP 2435#. BHT 110°.

DST #2: 5286-5330', 5-90-10-120. BOB IN LESS THAN 1 MINUTE ON BOTH OPENS. RECOVERED 30' GCM (3% GAS, 97% MUD), 60' OW&GCM (3% OIL, 3% WATER, 23% GAS, 71% MUD). IHP 2576# -- IFP'S 1011-1278# -- ISIP 1763# -- FFP'S 1233-1374# -- FSIP 1763# -- FHP 2453#. BHT 112°. GAS GAUGE ON INITIAL FLOW AT THE END OF 2 MIN: 3752 MCF AND ON FINAL FLOW AT THE END OF 2 MIN: 4528 MCF.

DST #3: 5330-50', 5-90-90-120. BOB IN LESS THAN 1 MINUTE ON BOTH OPENS. RECOVERED 30 O&GCM (2% OIL, 2% GAS, 96% MUD), 60' MWCFO&G (13% MUD, 17% WATER, 30% FROTHY OIL, 40% GAS), 90'WMCG &FO (14% WATER, 16% MUD, 34% GAS, 36% FROTHY OIL) 30'GW&MCO (1% GAS, 1% WATER, 1% MUD, 97% OIL). IHP 2493# -- IFP'S 152-178# -- ISIP 1765# -- FFP'S 150-302# -- FSIP 1765# -- FHP 2495#. BHT 98°. GAS GAUGES ON FINAL FLOW: 10 MIN/764 MCF, 20 MIN/953 MCF, 30 MIN/1123 MCF, 40 MIN/1123 MCF, 50 MIN/1198 MCF, 60 MIN/1348 MCF, 70 MIN/1348 MCF, 80 MIN/1348 MCF, 90 MIN/1348 MCF.

DST #4: 5927-67', 5-90-90-120. WEAK BLOW ON 1ST OPEN. NO BLOW ON 2ND OPEN. FLUSHED TOOL AND GOT WEAK SURFACE BLOW. RECOVERED 45' MUD. IHP 2866# -- IFP'S 24-28# -- ISIP 2052# -- FFP'S 29-42# -- FSIP 1722# -- FHP 2831. BHT 121°.

RECEIVED KANSAS CORPORATION COMMISSION

FEB 17 2010

CONSERVATION DIVISION WICHITA, KS

KCC FEB 1 7 2010 CONFIDENTIAL

ALLIED CEMENTING CO., LLC. 043047

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT: Mediciae Lodge							
DATE //)-29-201 34 30 <<	SICO ON LOCATION JOB START JOB FINISHAM							
1 - (NW)	sdown, KS. Clark Kansas							
OLD OR VEW (Circle one)	Is sait I south							
1/21 # 1	Scale Lien							
CONTRACTOR VAI	OWNER talcon Exploration							
HOLE SIZE 12 14 T.D. 687	CEMENT							
CASING SIZE 8 78" DEPTH 687	AMOUNT ORDERED							
TUBING SIZE DEPTH	SKESS STORES LECTURE							
DRILL PIPE DEPTH	250 5x Class A+3/12+2/gel							
TOOL DEPTH	COMMON 2505X @ 15.45 3,862.5							
PRES. MAX 200 MINIMUM——								
MEAS. LINE SHOE JOINT	POZMIX@							
CEMENT LEFT IN CSG. PERFS.	CHLORIDE 85x @ 58.20 465,60							
DISPLACEMENT 4/ Bbls Freshwater	~ ASC@							
EQUIPMENT	<u> </u>							
EQUI MENT	RECEIVED KANSAS CORPORATION COMMISSION @							
PUMPTRUCK CEMENTER Carl Balding								
#372 HELPER Davin Franklin	FEB 17 2010 @ FEB 17 2010 —							
BULK TRUCK	CONSERVATION DIVISION @ CONFIDENTIAL							
#421-251 DRIVER Scott Priddy	CONSERVATION DIVISION @ COMPRISE I TAL							
BULK TRUCK	@							
# DRIVER	HANDLING 250 SX @ 2.40 600.00							
	MILEAGE 2505xX25X,10= 625.00							
REMARKS:	TOTAL 5,657.18							
187' 8 98 Casing								
Loss Circulation + Bowing Air	SERVICE							
to suiface, - 500+ Dipe on Bolton								
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	DEPTH OF JOB							
plus pipe light 150 se 175 te								
Releate plug + Dispace With 41	PUMPTRUCK CHARGE /0/8.00							
Beleate plug + Distace With 41 Bbls water Bung plug + Floot Held.	PUMPTRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ ,85 328,95							
Pelente plug + Distace With 41 Bbls Water Bunt plug + Floot Held. Top out with 100 sx A3+2 +	PUMPTRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00							
Peleate plug & Distace With 41 Bbls water Bunk plug + Floot Held. Top out with 100 sx A3+2 + Ricewate Comment to systace	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ ,85 328,95 MILEAGE 25 @ 7.00 175,00 MANIFOLD @							
Release from becation with AIR Bubles Release from becation with AIR Bubles	PUMPTRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00							
in cellar	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ @ @							
CHARGE TO: Falcon Exploration	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @							
in cellar	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ @ @							
CHARGE TO: Falcon Exploration	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @							
CHARGE TO: Falcon Exploration STREET	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @							
CHARGE TO: Folcon Exploration STREET CITY STATE ZIP	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT - Top Ruber plug @ 1/3.00 1/3.00							
CHARGE TO: Falcon Exploration STREET CITY STATE ZIP	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT - Top Rubber plug @ 1/3.00 1/3.00 - AFU Insert @ 158.20 158.20							
CHARGE TO: Falcon Exploration STREET CITY STATE ZIP To Allied Cementing Co., LLC.	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT - Top Rubber plug @ 1/3.00 1/3.00 - AFU Insert @ 158.20 158.20 4 - Bastets @ 221,20 884.80							
CHARGE TO: Falcon Exploration STREET CITY STATE ZIP To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT - Top Rubber plug @ 1/3.00 1/3.00 - AFU Insert @ 158.20 158.20							
CHARGE TO: Falcon Exploration STREET CITY STATE ZIP To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT - Top Ruber plug @ 1/3.00 1/3.00 - AFU Insert @ 158.20 158.20 4 - Bastets @ 221,20 884.80 3 - Centralizers @ 44.30 132.90							
CHARGE TO: Falcon Exploration STREET	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT - Top Rubber plug @ 1/3.00 1/3.00 - AFU Insert @ 15820 158.20 4 - Bastets @ 221.20 884.80 3 - Cantralizers @ 44.30 132.90							
CHARGE TO: falcon Exploration STREET CITY STATE To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT - Top Ruber plug @ 1/3.00 1/3.00 - AFU Insert @ 158.20 158.20 4 - Bastets @ 221,20 884.80 3 - Centralizers @ 44.30 132.90							
CHARGE TO: Falcon Exploration STREET CITY STATE To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328.95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT - Top Rubber plug @ 1/3.00 1/3.00 - AFU Insert @ 15820 158.20 4 - Bastets @ 221.20 884.80 3 - Cantralizers @ 44.30 132.90							
CHARGE TO: falcon Exploration STREET CITY STATE To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328,95 MILEAGE 25 @ 7.00 17.5.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT PLUG & FLOAT EQUIPMENT - Ten Ruber plug @ 1/3.00 1/3.00 - AFU Insert @ 15820 158.20 - Baskets @ 221.20 884.80 - 3- Cantralizers @ 44.30 132.90 TOTAL 1,288,90 SALES TAX (If Any)							
CHARGE TO: Falcon Exploration STREET CITY STATE ZIP To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ ,85 328,95 MILEAGE 25 @ 7.00 175.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT PLUG & FLOAT EQUIPMENT							
CHARGE TO: Falcon Exploration STREET CITY STATE To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"	PUMP TRUCK CHARGE /0/8.00 EXTRA FOOTAGE 387 @ 185 328,95 MILEAGE 25 @ 7.00 17.5.00 MANIFOLD @ TOTAL 1,521,95 PLUG & FLOAT EQUIPMENT PLUG & FLOAT EQUIPMENT - Ten Ruber plug @ 1/3.00 1/3.00 - AFU Insert @ 15820 158.20 - Baskets @ 221.20 884.80 - 3- Cantralizers @ 44.30 132.90 TOTAL 1,288,90 SALES TAX (If Any)							



KCC FEB 1 7 2010

TREATMENT REPORT

	., ~ ~ ~							DENTIA	<u> </u>				<u> </u>			
Customer	<u>م ۶ ع د د</u>	Incation	.1 Two	Lea	ise No.			G C 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		Date						
Lease	V		- :: <u></u>:	We		34	Cal						0			
Field Order # Station 7/80145 A Station Type Job					! =	34	Casing C/-	n	County State							
7/マヘソタ: Type Job ,,							1 4/3	Formation	<u> </u>		/A/	Legal D	escription			
5/7	Lowe	Stern				~ ^	ري ري		TN 63	41		_	34-10	7 2		
PIPE DATA PERFORATING DA							FLUID U	TREATMENT RESUME								
Casing Size . Tubing Size Shots/Ft			12 RAL SUPER			d 54081	- Flush	TT. F	RATE PRESS ISIP							
Depth 5 640	Depth	From		To / 1	15 <	Pre	Pad	e 15.3	Max #/GA/		5 Min.	5 Min.				
Volume	Volume	From		То		Pa	d		<u> </u>				10 Min.			
Max Press	Max Press	From		To 5	50,5 Frac 60/4			0 802-	- AMILS RAY HOI			10 4	15 Min.			
Well Connection		From		То					HHP Used			, ,	Annulus Pressure			
Plug Depth	Packer De	epth From		То			sh D, 50		Gas Volum	е			Total Loa	ıd	·	
Systomer Rep		L			Station	Man	ager DAVE	نه مرح		Treate	er // •	سير ري	Wart	1		
Service Units	7 8443	19903	1000		1982	la	19860			 	,,,,	<i>∞</i> / .	127 Q 7 7	Î		
Driver Names	10erth		MAH				McG inu	,								
Time	Casing Pressure	Tubing Pressure		Pumpe			Rate		I	<u>I</u>	Servi	ce Log	VA!	<u>≠</u> /		
2213	*	1 1033410						041/0	c 1. s	cuss					Pln~ Jo	
*****							·	Ric Las	4		<i></i>	P:P &	,	1	rin~ 1c	
0255	S KANSAS CORPORATION (NON COM	MISS	ION	STAIT S/2 CASINI 15.5 #/FT								
<u> </u>	, _	<u></u>						Char	To 1		Ú		•			
			 	. 1 1	7 201	U		+ katch down Baffle								
	CONSERVATION DIV						ON	cent								
				WICH	ITA, 88		<u>. </u>	Recipisciatchers Top-9-1								
0615									0 564							
	-							Ris					Good			
2700	200#			12			5	Start				•				
	3					.5	Puma	SIBRI Nº SPACE								
3 00 F					6			Start Mikt Punn 1755Ks AA.Ze						m1 15.3		
			٤.	13											+ Line	
2723	200#						6/2								- Recip	
	500H						5/2	CHUSH	1+ 6.6	7 3	251	w	100	18131	5 by +	
0745	1000#		134	1			4	7 7	dousa							
	O#							A 11	50 /		+-	リド				
				7			人						J. 6	را با	(2 u ~	
				-2			-1	Plu.	14	,4,	1		it of	,	, , , , , ,	
														<u>, , , , , , , , , , , , , , , , , , , </u>	 _	
17700					\Box			-5./	10 5 0 0	11:	1.	· · · · · · · · · · · · · · · · · · ·		•		
								- t	JNNK S	A	H_{E}	4 1 4	Mile	, , ₁	1. Ko	
1024	NE Hiw	ay 61 • F	P.O. B	ox 8	613	Pr	att, KS 6	7124-86	13 • (620	672	-120	1 • Fa	x (620)	672-	5383	